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Topic:- Child Development & Pedagogy (CDP)

1) One of the symptoms of dyspraxia is: / feifarar & @teon § 3 Th %:

1. Problem in understanding spellings / aﬁ ‘HHC\H:I EERSEERss)

2. Problem in doing mathematical calculations / T 70T A | qHRT
3. Problem in holding a pen and writing / Uch hefH W 3‘ﬁ? mﬁ ﬁf HHY]

4. Problem in the accent of a language / HIYT $ o RY] ﬁ SH|

Correct Answer :-

« Problem in holding a pen and writing / b b ¢IH W 3‘ﬁ? 1%1”@!9[ ff RIESESI

2) Material for later retrieval is stored in the A | [ | Eﬁ'ﬂﬁ *» ﬁl‘l'{ Il &t
H dudia foar sman g1

1. Long term memory / &rdiehiferes Ffa
2. Short term memory / STghifeleh T

3. Rote memory / H&Ed T

4, Sensory memory / HAGT Fﬂtﬁ

Correct Answer :-

+ Long term memory / &réiehifereh Ffl

3) Which of the following is a technique used to address stuttering?/ & & ¥ la-dY v
dHdld § ST TR gHal (FH-FF T dloled) F 3T Fel & fow har smar §2

1. Prolonged Speech / ofF<T $IT9oT
2. Purposeful Speech / 3GgRIqUT #T9OT
3. Practical Speech / SITagTReh HTYOT

4. Delayed Speech / faeifaa smvor



Correct Answer :-

 Prolonged Speech / oIF<T 8IT9oT

4) The enrichment of environment and experience in the early years of life will enable to
develop ./ Shae & yRfAE a6t & arameor AR e A wopefy F1
fasra w1 & warA gl

1. innate potentialities / STeHSATd &THAI

2. problems / GHTIATT
3. heredity / 3TTeJd IR
4, intelligence / gﬂ:@'

Correct Answer :-

« innate potentialities / STeHSITd &THA

5) Achievement in school is most closely related to WACELICE # 3qaferr @
Ted HOF Awear d Fefa &

1. The attitude of parents / ATTT-TUAT & cIdgR
2. The conduct of students / STAT ST 3TAROT
3. The interaction of peer group / AT HHg $r aradd

4. The quality of teachers / T2I&TenT T oI

Correct Answer :-
« The quality of teachers / fer&Tent hr IOTaT

6) Constructivism does NOT acknowledge the value of knowledge that is: / f#TorarE AT & A
N FFR JE Far & 5 T &

1. Personal / dITFde

2. Subjective / STTFTRP
3. Universal/ @a#if@s
4. Individual / SaTEFeTd

Correct Answer :-

« Universal/ rasiifaes



7) The fear of strangers the children develop, is because of ./ FFATEAT FT HT AT TR
fosfa = §, & FROT g B

1. Operant conditioning / ﬁmmg—r HleTehefeT (3T Sharerfean)

2. Sign learning / Tehd FTRRTH

3. Classical conditioning / TRUTATSS Wiefehelet (FeTf@ehel sheteriaiar)
4. Insight learning / 37z ¢ 31T

Correct Answer :-

« Classical conditioning / RRUfafSaT TTeJheldd ERUGERECERIGED)

8) The inherent abilities of the child should be while designing the curriculum. / 9Tod$hHA

BosdT A AT =4 ¥ Adfafed aAqEt & TIfew
1. Considered / €T H &IT=IT
2. Discarded / Tl ST

3. Separated / 3TeldT shiaT

4. Ignored /| FASI3IGIST el

Correct Answer :-
« Considered / €T H ST

9) According to Erikson, role confusion occurs if the is not established. / Eﬁ?ﬂﬂ'*ﬂﬂﬂﬂ,
afg T g grar & ot siffpT F sv Y ¥

1. Intimacy / HTcAHTIAT
2. Initiative / 9geol

3. Industry / IR=F

4. Identity / YgdTel
Correct Answer :-

 Identity / 9gdTel

10) has developed a socio cultural approach to cognitive development. / aF

TAACAS e & v & afos-aegfas tiRenor Refa fFar 8
1. Jerome Bruner / S SeIX

2. Kolb / @led

3. Jean Piaget / SfieT Oramer



4. Lev Vygotsky / fold arsaliceht
Correct Answer :-

 Lev Vygotsky / fota arganceahr

11) Child development refers to: / Tl A% fAr & wefda &:
1. Quantitative changes only / hdel HEIcHS® TRAdT

2. Qualitative changes only / shdel UTTcHb gRadd

3. Qualitative changes corresponding to quantitative changes/ [0TlcHh gRAdd, AECHS IRAd=T &
3IET B

4. Qualitative changes independent of quantitative changes/ J[0TlcHS gRddsl, AECAS IRadAT &
SECERY

Correct Answer :-

* Qualitative changes corresponding to quantitative changes/ d[UTcdh gRAdd, AECHS IRad=T &
3HTET & &

12) What is the most heavily associated characteristic of bipolar disorder among children? / s=at

# A e gy PR (aEder BEi) f ge@ o Rdvar = §2
1. Being hyperactive. / 3fa@afsea gie|
2. Being sad often. / 3&F8X 3G gleAT|

3. Extreme mood changes./ §S H HcIw dgerd gle|

4. Having exciting behavior./ (AT STTER HaAT|

Correct Answer :-
* Extreme mood changes./ #3 H 3Acafs Sgara gler!

13) What type of theories acknowledge the contribution of both experience and genetics in
development? / 8 9&R & fguia, e # g 3R areqafdr A&t & Aeree #
wera §?

1. Interactionist theories / 37d:fohaTaTy ﬁﬁfﬂﬁ
2. Nature theories / 9@'% IGEIG]

3. Deterministic theories / TIfdTE T@ESJTH
4. Nurture theories / GTelel-GIvoT fAGHTA

Correct Answer :-



« Interactionist theories / 37cT:fehaTardr @Ia\ﬂia

14) What type of intelligence is involved in overall success in living according to Sternberg? /

TeATd F AR, Ea-wea (RAfEm) F worer gwaar # g yovr #1 gefdwmr afe gd 82
1. Logical-mathematical intelligence / dTfeheh-3TioTcI gﬂﬁﬂm

2. Componential intelligence / ¥l g’dj_‘aﬂ?ﬂ

3. General intelligence / dTHCT gajﬁw

4. Practical intelligence / SATagIR e fOr

Correct Answer :-

» Practical intelligence / SATagIRe et

15) What term refers to the biological development of an individual? / f&¥t =afea & sifasw e
F AU 91 sg sTAATT fRAT FATAT §2

1. Learning / 31f&e1#

2. Maturity / gROaFadr

3. Maturation / 9RGeradr
4. Aging / HW
Correct Answer :-

o Maturation / 9RIeFaar

16) What term denotes the negative and positive evaluations an individual makes about the self? /
fFdt safFa O @ & AN F v v FERHAF R FERCHAF Aediwa # FE reg
fasfa fmar?

1. Self-esteem / TcH-GFHTT
2. Self-efficacy / FI-IHTGRTIRAT
3. Self-centeredness / 3TcH-chg T

4, Self involvement / TI-HEHATIAT

Correct Answer :-

o Self-esteem / 3TcH-HFHTA

17) Which psychologist carried out an experiment of classical conditioning involving a little boy

calledAlbert?/mmﬁmmwaﬁmaﬂmﬁamgemw
(FenflFer FIR@T) W oF gAoT FA1?



1. B.F. Skinner / &T. T%. TR
2. E.L. Thorndike / §. TH. UTASSH
3. Ivan Pavlov / 34T didelid

4, John Watson / SlieT dicdel

Correct Answer :-
o John Watson / SifeT aredsT

18) Which part of the sensory register captures visual aspects of the environment? / Haddr (e
F1 FlA-A1 REAT wiawor & TeF vEepst N Foaw Far 82

1. Iconic memory / FfdTS&d T
2. Echoic memory / ?ngrr F-H';_Fcf
3. Visuospatial sketchpad / o1 Faty Thads

4, Visual store / TFT HIg

Correct Answer :-

+ Iconic memory / FdTS&d T

19) Which of the following is a reason for a student seeking counselling/ Ifg v o WA dAar
¥, af sue wfaf@a & ¥ F47 FROT BT §?

1. Career indecisions/ U2IRTd HAHTH
2. Sensible/ HHASACH

3. Strong/ mﬁ

4. Superior/ AT

Correct Answer :-
e Career indecisions/ ORI 3TTHTH

20) Which of the following is not a technique to aid the storage of information in long term
memory? / faFafaf@a & @ - federfor Ffa & gaam F iROT F AT F@A A
dsdls A 87

1. Elaboration / fa&ar

2. Rehearsal / ﬁ%’!ﬁﬂ

3. Chunking / T

4. Mnemonics / Wfa-faz



Correct Answer :-

+ Chunking / @fear

21) Which of the following statement would be true in case of an extrovert person?/ a%'a:’l;@"r afed
& A # fArafaf@a # § sia-a1 Faa 7@ o

1. Social situations drain their energy./ TTATRSTE TR IAH!T oIl B! THTE HR <t & 1

2. They gain energy from social situations./ & AT ATTAT F ol UTed I g

3. They gain energy from within. / 3sTh! 37X & ol 9T gldr gl

4, They prefer working alone./ d 37ohel &HIH FLAT THG FId gl

Correct Answer :-

+ They gain energy from social situations./ @ ol TAfaar & Foll 9Iod X gl

22) Which of the following statements is true regarding algorithms?/ TeaRYA & T &
frafaf@a & & sla-w F97 7§ 7

1. An algorithm is a set of steps to follow intended to solve a specific problem. / TeINRUHA Tk fafarse
THTIT T §ol FA & 3T F 0T FA & T @O F1 Th THE &

2. An algorithm is a rule of thumb that gives some guidance on how to do a task but does not guarantee a

solution consistently./ TealRUA Tk Hﬁmﬁaﬁ g & ot fonelt & & el & IR A PO
AAELT &l & offehed Al FATUIT T IR w7gT e &

3. An algorithm’s success is independent of the sequence of steps followed during its execution./ T

TANRYA & HAd SUP WG & SR ISTY T RO & I I W g
4. An algorithm is a rule of thumb that gives some guidance on how to do a task & guarantees a solution

every time./ TENTRYT T SHaRIg Fom § ot el ord &1 vl & e oo Amfesi= 3a1 § 8k &R aR
FHTYH BT TRE r &

Correct Answer :-

« An algorithm is a set of steps to follow intended to solve a specific problem. / TeIMRYA Teh fafArse
THET HT gl A & 3682T U 3TEOT Al & AT =O &7 U Fofg &

23) Who used the term Deviation Intelligence Quotient? / f=esr gefer suesuar (3fRvere gefasie
Fdie) ereg w1 wAT fFEsr fFa?

1. Alfred Binet / 33 fosic

2. Lewis Terman / g8 THA

3. David Wechsler / 37a8 d¥ger
4, William Stern / faferas Teet

Correct Answer :-



o David Wechsler / 3fdg a&aer

24) How does academic curricula subtly promote gender discrimination? / FPGTAF

UISaHA, fr Agea F1 FA ForEaT Iar §7?

1. Very little mention of achievements by females compared to achievements by male. /w 1

GEol H ATGATIT T 3UATE=AT T Igd HHA 3oold FHEAT|

2. Unethical grading amongst males and female students. /W 3R Afger sET & &
3t AfSam)

3. Focusing mathematics and science courses only to male students / Shael C_KG[ oE & U
g 3R AT TToTsd 9T higd FT|

4. Unequal funding towards male education compared to female education /?Fl'%?ﬂ freqr &
doletT H Y RIeT & 9fd 3rAE Afdeor |

Correct Answer :-

« Very little mention of achievements by females compared to achievements by male. /W r

GEol H ATGATT T 3UATEAT T Igd A 3cold LTI

25) Children having phonological core deficits suffer from ./ BIAIed HR I a1 9=
J AifSaga g

1. Dyslexia / [3Eeifaar

2. Dyscalculia / %@m&“qﬁm
3. Dystopia / f3&cIfaT

4, Dysnomia / T3&AAAT

Correct Answer :-

o Dyslexia / BEeifaaar

26) A father expects all his children, aged 4, 6 and 12 to learn the same subjects together. This would be
in violation of which principle of development? / b ILGIEELE] 4,6 3R 12 af Y S Fafis=i A
Suite a1 § o 3 ve a1y war fowa W | o e & foa Risia &1 @s grm?

1. There are individual rates of development / AT &1 3THT-3THT &< @?ﬂ) B gl
2. Development proceeds from simple to complex / AP TR T Sifeedr &1 3R 3F dedl %I
3. Development depends on maturation and learning / fawry, uRuedr 3R 3T IR AR vt %I

4. Development is a continuous process / [T T Fdd UfehdT gl

Correct Answer :-



¢ Development depends on maturation and learning / ﬁw, URuedr 3R e IR MR HRaT 5|

27) Intelligence is something that grows and develops through a series of stages. There are both
qualitative and quantitative differences between the thinking of young children versus older
children. Who put forward this theory? / gaﬁmm (Sefoeiw) v WY ufhar & oY § vyt fr
H@a & AEIH F Toc AR AT @t T ok T=at g9 93 =t fr A9 F & qoneAw AR
AATEAF a3 81 39 Rgua & e yfwfa fr?

1. B.F Skinner / &Y. T%. &
2. Howard Gardner / g/@s MSeR
3. Jean Piaget / S T

4, John Dewey / St $\é’

Correct Answer :-

o Jean Piaget / SfisT 9T

28) The infant is able to move about, especially because of the growth of ./ ICRILESUE: ]

& oo & orur Ry afoxfita g9 & 9w g

1. Motor areas only / dhael HIeI &1F (He TRam)

2. Neither sensory nor motor areas / a7 dl HaeT 3R 1 & fshaTcas &7
3. Sensory areas only / Shael Tder &1 (HAT TRAT)

4. Sensory and motor areas / HAGT AR fohdTcHe &1 gl

Correct Answer :-

» Sensory and motor areas / Fla?fr IR fhaTcas a7 E\"IH'I

29) can cause deficiency diseases that adversely affect the growth and development of

childre%n / , FH Tt Ffeal BT FRUT 99 GFHar @ o T Ft g iR ey R ufoga yvra
STedT 21

1. Mental Illness / ATATAS STHRT
2. Anemia/ {Fdlreddr
3. Malnutrition/ Tcﬂ'qUT

4. Clinical Depression/ sigIfeleh GHTG

Correct Answer :-

e Malnutrition/ TCﬂ'GI'UT



30) attribution assigns the cause of behavior to the internal characteristics of a

person%./ TUIRTYYT (TieegRI) fdt safaa @t srialve faxivarsii & saagR &1 R
qarar g1

1. Dispositional / therma (FBEaiforereTer)
2. Situational / Rufasi=a

3. Environmental / 93TaRoT

4. Cultural /F@ﬁ?

Correct Answer :-

« Dispositional / tera (f3Taifarerae)

Topic:- General English(L1GE)

1) Read the following passage carefully and answer the questions that follow:

An opinion is an expression of a person’s feelings or thoughts based on
emotional history and values. But what if the truth is that people do not really
believe every position they express in public? Let's remember that someone
who is strongly committed to an opinion and unwilling to consider other
options is very likely to impose her view on a second party (you?). And you
might be uncertain about which route to walk. In other words a flexible
person very often ends up losing to an inflexible friend. Most of the conflicts
in life arise from the belief that one is always right, and this strong belief is
rooted in opinions which may not always be true. We incorrectly believe that
we are correct. The need to feel superior to everybody else in one’s circle is a
weakness many people have but do not realise at all.

Who is an inflexible person?

1. A person who is unwilling to change or compromise
2. A person who is willing to change

3. A person who is very ambitious

4. A person who is very caring

Correct Answer :-

» A person who is unwilling to change or compromise

2) Read the following passage carefully and answer the questions that follow:



An opinion is an expression of a person’s feelings or thoughts based on
emotional history and values. But what if the truth is that people do not really
believe every position they express in public? Let's remember that someone
who is strongly committed to an opinion and unwilling to consider other
options is very likely to impose her view on a second party (you?). And you
might be uncertain about which route to walk. In other words a flexible
person very often ends up losing to an inflexible friend. Most of the conflicts
in life arise from the belief that one is always right, and this strong belief is
rooted in opinions which may not always be true. We incorrectly believe that
we are correct. The need to feel superior to everybody else in one’s circle is a
weakness many people have but do not realise at all.

According to the writer, what is it that many people do not realize?
1. The feeling of being weak

2. The feeling of being inferior to everyone else

3. The feeling of domination by others

4. The feeling of superiority to everyone else

Correct Answer :-

« The feeling of superiority to everyone else

3) Read the following passage carefully and answer the question that follows:

An opinion is an expression of a person’s feelings or thoughts based on
emotional history and values. But what if the truth is that people do not really
believe every position they express in public? Let’'s remember that someone
who is strongly committed to an opinion and unwilling to consider other
options is very likely to impose her view on a second party (you?). And you
might be uncertain about which route to walk. In other words a flexible
person very often ends up losing to an inflexible friend. Most of the conflicts
in life arise from the belief that one is always right, and this strong belief is
rooted in opinions which may not always be true. We incorrectly believe that
we are correct. The need to feel superior to everybody else in one’s circle is a
weakness many people have but do not realise at all.

What is the passage about?

1. Correct opinion



2. An opinion is an expression of oneself
3. Formation of opinion

4. How one should take opinion

Correct Answer :-

« An opinion is an expression of oneself

4) Read the following passage carefully and answer the questions that follow:

Education 4.0 is putting students at the heart of educational experience and creating individual
learning experiences. Education 1.0 was the traditional method of students going to a Gurukul
in India. Then came the universities as in Takshila and Nalanda in India. Then Universities came
up in Europe. Then you had the industrial revolution which demanded a large number of people
who could be trained. There, student read books, sat down and listened to the teachers. They
had a course, they had a curriculum and then they obtained a certificate to earn a livelihood. In
Education 4.0, students can create a degree of their own, are able to do a degree in nuclear
science [combining it] with biotechnology, with dance, with music or with fundamental physics
or something like that. The mix and match is available and can be done offline or online. A
student can sit at home do a course online and get a degree. So, in Education 4.0 students can
design their own course, learn offline or online and they can also make sure that they can learn
at their own pace. At the end of it, they obtain a certificate that they can carry to job interviews.

What type of system of education provides for individual learning experiences?
1. Education 4.0
2. Education 2.0
3. Education 3.0

4, Education 1.0

Correct Answer :-

« Education 4.0

5) Read the following passage carefully and answer the questions that follow:

Education 4.0 is putting students at the heart of educational experience and creating individual
learning experiences. Education 1.0 was the traditional method of students going to a Gurukul
in India. Then came the universities as in Takshila and Nalanda in India. Then Universities came
up in Europe. Then you had the industrial revolution which demanded a large number of people
who could be trained. There, student read books, sat down and listened to the teachers. They
had a course, they had a curriculum and then they obtained a certificate to earn a livelihood. In
Education 4.0, students can create a degree of their own, are able to do a degree in nuclear
science [combining it] with biotechnology, with dance, with music or with fundamental physics



or something like that. The mix and match is available and can be done offline or online. A
student can sit at home do a course online and get a degree. So, in Education 4.0 students can
design their own course, learn offline or online and they can also make sure that they can learn
at their own pace. At the end of it, they obtain a certificate that they can carry to job interviews.

Education 4.0 allows students to have a system to study.
1. compromising

2. inconvenient

3. flexible

4. rigid

Correct Answer :-

« flexible

6) Read the following passage carefully and answer the questions that follow:

Education 4.0 is putting students at the heart of educational experience and creating individual
learning experiences. Education 1.0 was the traditional method of students going to a Gurukul
in India. Then came the universities as in Takshila and Nalanda in India. Then Universities came
up in Europe. Then you had the industrial revolution which demanded a large number of people
who could be trained. There, student read books, sat down and listened to the teachers. They
had a course, they had a curriculum and then they obtained a certificate to earn a livelihood. In
Education 4.0, students can create a degree of their own, are able to do a degree in nuclear
science [combining it] with biotechnology, with dance, with music or with fundamental physics
or something like that. The mix and match is available and can be done offline or online. A
student can sit at home do a course online and get a degree. So, in Education 4.0 students can
design their own course, learn offline or online and they can also make sure that they can learn
at their own pace. At the end of it, they obtain a certificate that they can carry to job interviews.

What kind of traditional method of education existed in ancient India?
1. Students studied to get a certificate and earn a livelihood.

2. Students went to a Gurukul.

3. Students went to a university.

4, Students sat down and listened to the teachers.

Correct Answer :-
« Students went to a Gurukul.

7) Read the following passage carefully and answer the questions that follow:



Education 4.0 is putting students at the heart of educational experience and creating individual
learning experiences. Education 1.0 was the traditional method of students going to a Gurukul
in India. Then came the universities as in Takshila and Nalanda in India. Then Universities came
up in Europe. Then you had the industrial revolution which demanded a large number of people
who could be trained. There, student read books, sat down and listened to the teachers. They
had a course, they had a curriculum and then they obtained a certificate to earn a livelihood. In
Education 4.0, students can create a degree of their own, are able to do a degree in nuclear
science [combining it] with biotechnology, with dance, with music or with fundamental physics
or something like that. The mix and match is available and can be done offline or online. A
student can sit at home do a course online and get a degree. So, in Education 4.0 students can
design their own course, learn offline or online and they can also make sure that they can learn
at their own pace. At the end of it, they obtain a certificate that they can carry to job interviews.

Which of the following was the traditional method of education system?
1. Education 4.0
2. Education 2.0
3. Education 3.0

4, Education 1.0

Correct Answer :-
e Education 1.0

8) Which of the following options best combines the following sentences?

He is always absent for coaching classes. I just fail to understand the reason for his absence.

1. He is always absent for coaching classes but | just fail to understand the reason for his
absence.

2. He is always absent for coaching classes as | just fail to understand the reason for his absence.
3. He is always absent for coaching classes so | just fail to understand the reason for his absence.

4. He is always absent for coaching classes, and | just fail to understand the reason for his
absence.

Correct Answer :-

« He is always absent for coaching classes, and | just fail to understand the reason for his
absence.

9) Rewrite the following changing the active sentence to passive.

The school has announced the result.



1. The result have being announced by the school.
2. The result has announced by the school.
3. The result has being announced by the school.

4. The result has been announced by the school.

Correct Answer :-

* The result has been announced by the school.

10) Read the sentence carefully and choose the option that has an error in it:

The interviewer was very interesting in a particular candidate.
1. in a particular candidate.

2. interesting

3. The interviewer

4. was very

Correct Answer :-

+ interesting

11) Choose the right tag:

™~

You seldom write to me,
1. have you

2. won't you

3. do you

4. don't you

Correct Answer :-

12) Choose the option that substitutes the given phrase appropriately.
A statement which is accepted as true without proof
1. Alimony

2. Aquatic



3. Axiom
4. Anthology

Correct Answer :-

« Axiom

13) Choose the appropriate tense to fill in the blank in the given sentence:

I a course in visual communication right now. I’m planning to make it my career.
1. did

2. has been doing

3. had been doing

4. have been doing

Correct Answer :-

« have been doing

14) Read the following passage carefully and answer the questions that follow:

An opinion is an expression of a person’s feelings or thoughts based on emotional history
and values. But what if the truth is that people do not really believe every position they
express in public? Let’s remember that someone who is strongly committed to an opinion
and unwilling to consider other options is very likely to impose her view on a second party
(you?). And you might be uncertain about which route to walk. In other words a flexible
person very often ends up losing to an inflexible friend. Most of the conflicts in life arise
from the belief that one is always right, and this strong belief is rooted in opinions which
may not always be true. We incorrectly believe that we are correct. The need to feel superior
to everybody else in one’s circle is a weakness many people have but do not realise at all.

What kind of people imposes their views on others?
1. Those willing to consider other options

2. Those willing to listen

3. Those unwilling to listen

4, Those unwilling to consider other options

Correct Answer :-



» Those unwilling to consider other options

15) Fill in the blank with the correct option in the given sentence:

People have become so addic-- to technological advancements that they have become lazy.
1. --ient

2. --tion

3. --tive

4, -- ingly

Correct Answer :-

o --tive

16) Fill in the blank with the correct option in the given sentence:
When we help others, we will never be -- satisfied in our lives.

1. dis--

2. re--

3.in--

4. mis--

Correct Answer :-

o dis--

17) Choose appropriate articles for the given sentence:

__ apple____ day keeps doctor away.
1. Not required... an... a

2. An... a... the

3. An... the... no article required

4, The... a... an

Correct Answer :-

¢ An...a...the



18) Choose the appropriate prepositions for the given sentence:

We should arrive their place time lunch.

1. by...in... at

2. for...on...in
3.in...on... by
4. at...in... for

Correct Answer :-

e at...in... for

19) Choose the most suitable pronouns for the given sentence:

got bruised while trying to climb the tree.

1.1...you
2. ... myself
3.1t ... him

4, We ... him

Correct Answer :-

20) Choose an appropriate article for the given sentence:
We were stopped by police last night.

1. an

2. no article

3. the

4, a

Correct Answer :-

o the

21) Identify the most appropriate indirect speech statement for the given
sentence :

“I am not here to repeat myself,” said the teacher.



1. The teacher said that she wasn’t there to repeat herself.
2. The teacher said she’s not here to repeat herself.
3. The teacher informed that she was there to repeat herself.

4. The teacher told that she is not here to repeat herself.

Correct Answer :-
« The teacher said that she wasn’t there to repeat herself.

22) Choose the appropriate antonym for the highlighted word in the given sentence.
My cousin speaks with a refined, educated accent.

1. urbane

2. sophisticated

3. polished

4. boorish

Correct Answer :-

« boorish

23) Choose the appropriate synonym for the highlighted word in the given sentence.
American tractors even have adjustable steering wheels.

1. modifiable

2. temporary

3. detachable

4. rigid

Correct Answer :-

« modifiable

24) Choose the appropriate conjunction for the given sentence.

I am stressed, I listen to music.

1. Whereas
2. Whenever

3. Because



4. Since

Correct Answer :-
« Whenever

25) Choose the appropriate option that rewrites the given sentence in its active voice.

This year, the annual function was celebrated with great pomp and show by them.
1. They were celebrating the annual function this year with great pomp and show.
2. They celebrated the annual function this year with great pomp and show.

3. We celebrated the annual function this year with great pomp and show.

4. We celebrate the annual function with great pomp and show this year.

Correct Answer :-
« They celebrated the annual function this year with great pomp and show.

26) Choose the appropriate tense to fill in the blank in the given sentence:

The recent budget a reduction in tax rates.
1. would be proposing

2. has proposed

3. will have proposed

4. proposing

Correct Answer :-
« has proposed

27) Choose an appropriate determiner for the given sentence:

There are only students present in the class during the weekend.
1. less

2. many

3. little

4, a few

Correct Answer :-

e afew



28) Choose an appropriate modal for the given sentence:

A civil servant uphold the principles of the constitution.

1. ought
2. could
3. can

4. must

Correct Answer :-

e must

29) Choose the option that best explains the highlighted expression:
Now, it makes sense to me why you moved out of that house.

1. | understand
2. 1 am puzzled
3. I am astonished

4, | have become sensible

Correct Answer :-

¢ | understand

30) Choose the right tag:

They are going back home from school, ?

1. wouldn’t they
2. won't they

3. aren’t they

4. will they

Correct Answer :-

« aren’t they

Topic:- General Hindi(L2GH)



1) &7 U=y AT #7xa §1

oA AT Woq AR FF & F:A &
e @at & § 3,

i s 3T/ FFge?

Teeil-afed fava € 3, sa-dere awa §,
& Us7 faw ma

q M-uaT F ¥l I©R,

3R FoIo FUT I 4R,
erellerdT & IR ¥ AA-APR aa §
& s fow awa #

g ¥ W, 3Ra ¢ a9,

91 919 # 3cHa-ud,

TH-U ygd-taTw oed, 9 e a9 &2
& T faT ma §!

& A-AE 69 AR,

fFar &Y qu g FN,

arEHA gEflr aer W F qeA-UH w1 T
& s faw ma

a1 FE T gH A,

e aarar BT F sher?

37! Heaeldidt & & IS @ WA 8!
& s faw ma §

w3 1 fAsdhraa e, qoer FRER,
Hcg-2Us 3 did HI, TsF, TH TR
P 50 AR a9 Raw vy F @
Rraasr wo7 & Far JAw a9 § Fael,
39 e W G A 3R e T
W U I & I@T Il 9o § I,
Fele-A I A o9 dlgg A
Rigsr Rgsr R o, wha-w e § o 9,
Forell, 9§ Toreh ar ST 38 RAww grer @
3YYFT ISIA FT YGHT AT I AT oA FT IR qABA:



TR - HoelaTdIdt F & FiT g 87
1. AT

2. Bl

3. gguR

4.3

Correct Answer :-

2) &F U9 fav &7 §

ol T Weg §AR F4F & 7 ¢
e @at & § 3,

aleT s 3T/ FFge?

Tei-afed fava € 3, sg-dere ama §,
& s faw ma

T M- F el 36N,

3R G FUT I UK,
FeAferdT & IR F HA-TPR ol &
& sy faw ma §

g F W, 3RT ¢ a9,

a1 91 # 3cHa-T4,

-7 Ted-tad s, 3 Fed a7
&9 59 faw fxa @

& HT-A@ 89 3R,

T FY g a1 FoN,

AEHA S a9 F T FqA-u A g
T sy faw ma §

81 FEl T §A WA,

FleT #erar Y T Her?

371 Hedeldidt & & IS @ WA gl
& s faw ma

93 1 fAsdraa e, g FRER,
Hcg-gus 34 dId FI, TF, I3 ARl
dlegg TFT @EEl o9 I ofA I,



AN 59 3R a9 Bawr vy & ||

Rrrasr wop & Hor 3N a7 § Fare,

39 @ W g A=t 3R el W =

W 9 g & T@T F@l oI § T,

Folg-HA IE AA NG ey TIFH

Rgsr Rgsr R o, wia-wr e § 79 9,
olell, 9§ o df I 38 R{ww g @

39T YGIIT T YGH A qF AT WA FT I qaqB:
Wl - e & HTER W F WA FT N2
1. oaaH

2. drer

3. #ASd

4. ge-faar

Correct Answer :-

3) &F U9 fav &

AT T Wed AR FEF & F ¢
foed @t & § 3,

sl Ifow 3T wFaeT?
Teeh-afea et § 3, wa-du9 s §,
& Tsg AT 7xa #

T T-ua F el 3T©R,

3! ST JuT I UK,
wEreflerdT & IR & AHF-APR aXa §
& Uy faw ma §l

Ig § M, 3RT § 99,

a1 919 # 3cwa-T4,

-8 YeditaTd oes, 3 fFed A &
& s faw ma

& A-AE 69 AR,

fhar #Y qu arg #eN,

ArEHA gEflr dor W q qA-UH 1



& s faw ma

81 FE I@ §A A,

e aarar BT F sher?

381 IeIarant F J@ A W § &

& U7 faw ma

93 1 fsdraa e, qoer FRER,
Hcg-gus 34 did HI, TF, I3 ARl

dleg TFT @Eel o9 I i I,

AN 59 IR a9 Bgaw sy & ||

Rras W] & ¥ AEA a9 T waAd,

39 e W e A 3t el ) =

W 9 9o & T@T F@1 oI § TFH,

FHele-AT I A o9 dlgg TR

R R R a1, wila-ar ofla & sa @,
e, Tg T A IH A8 RAwA g A
3YAFA ISIIA FT YGHT AT I AT oA FT IR qABA:
W - RREET T FF R AT o FT e w1 § ?
1. AMEHYT i

2. &I HI

3. 379+ 3SR

4. 39 IRAR

Correct Answer :-

. ATEHI i

4) &7 =¥ v A §

HTAT T W] TAR FYF & 7 &l
e @at & § 3,

aleT s 3T/ FFge?
Teeh-afed e § 4, wa-dug s §,
& s faw ma

¥ M ¥ U ;@R

3R G JUT I UK,

FeefieaT & 3R § SH-UNR ada &l



& s faw A

ag § M, 3RT ¢ 99,

a1 919 # 3cwa-T4,

-8 YeditaTs e, 3 fFed A &
& U7 faw ma

& AT-AE 69 AR,

fhar #Y qu g FeN,

IrEF gEflr aer FX F AA- e_d B
& sy v 7y §1

81 FE I & o,

e serar T aar?

371 oG F & A T A o
& T faw ma §!

wo v P, AP FRER,
H{g-2Us 3 did HI, Ts9, TH TR
dleg 99T @Rl A9 T§ HA 30T,
AN 39 3R a9 Bawr vy & F@|
Rrrasr wop & |or 3N a7 § Fore,
3T @ W g A= 3k el W e
W g g & T@T F@l Il § T,
Fog-A g HA g dleg TFR
s Rgsr R o, wia-wr e § 79 9,
orell, 9§ I af I $8 R{wwr g @
39YFT TSI FT IGHT Al T AT NRA FT 3 TS
yee - @i gront d TFHT A T@T {7
1. &

2. h

3. 9&ir

4. 9ol Yol

Correct Answer :-
o Uof Yol

5) &7 Us¥ AT 7w &



oAl T W §AR F8F @ F7d §
e @at & § 3,

HleT s 3T/ FFge?
Teoh-afed e § 4, a3 s §,
& U7 faw ma

¥ M ¥ U ;@R

3R FoIo FUT I 4R,
erllerdT & IR ¥ AA-APR A $
& =9 AT 7xa #

g ¥ W, 3Ra ¢ o9,

a1 919 # 39914,

-8 yeditaTe e, 3 fFed @ &
& T faw ma §!

& A-AE 69 A,

T FY g a1 FoN,

AEHA FEfd a1 F I HA-4H 1A ¢
& s faw A

a1 FE T@ gH A,

e aharar BT F ser?

381 IeTarant F J@ A W F &
& s faw ma §

93 1 fasdraa e, qoer FRER,
H{cg-gvs 3 dId FI, TF, I3 ATFarl
dleg TFwT @Eelt S9 I ofA I,
AN 59 3R a9 Baaw sy & |1
Rras W3] & ¥ JEAA a9 T wAd,
39 T W G A 3R e W =i
W 9 9 F T@T Fg1 oI § TFH,
Fle-A I A o9 dlgg TR
R R R a1, wila-ar e & sa @,
Foell, IF T A FH & RwA g A
3YYFT ISHIA FT YGHT AT I AT YA FT IR TS
W - UEHIAT H AT Aeq FUT FT FARTLT et F & Fher-am e 2



1. oy

2. Siiddicen
3. 9Tl

4. ool

Correct Answer :-

6) g7 T favw #xa &

oA AT Weq AR F4F & A &
e @at & § 3,

i HOF 3] FFIeA?

Teh-afea fawRa § 9, sra-d99 aRa &,
& Uy faw ma §

q MU F ¥l ©R,

3! GAN FUT Y 4R,
Feaddl & IR T HA-APR RS &
T U9 AT #xa &

I ¥ X, 3T § 9,

91d 919 # 3cHa-ud,

-8 vel-tatd o, 3 fhed s #2
& Uy faw ma §

& HT-Ag 69 IR,

fhar #Y qu arg #eN,

TrET e aof FX F HAF-e v §
& s fow awa #

a1 FEt T@ gH A,

Fler siharar BT A aer?

37! Hedeldidt F & IS @ WA g
& Uy faw ma §

98 N faswrer fAdn, o FRER,
Hcg-qus 34 dId FI, TF, I3 TRl
dleg ¥ @R ST g A 3,
T 30 AR a9 Raw oy & FqW



Raras v & W1 A a9 § g,

39 @ W g A= 3R el W e

W U 9 & T@T Il 9o § T,

Fog-HF IE AR T ey TIFH

st Rgsr e o, wsita-wr ofa & warer @,

Folell, 9% I df A7 $8 v g @

39T YGIIRT Y YGH A qF AT WA FT F) qaqBA:
WA - GGIT & TR FYFI 1 79 F1 41 30Ra §?
1. 37¢ G T YR 3T e &

2.9 {9 AT faeRa &

3. Fifeh 3ok TQI 3ol g

4.d SId-91d A €8 & 9 81d &

Correct Answer :-

o FifeR 3T TGT o Bl

7) &9 =g AT #xa &

T T TWod AR FEF § F ¢
e @at & § 3,

sl s 3T wFEae?
Teh-afea et § 3, swa-du9 s §,
& oy fow A #

T T-ua F el 3©R,

3 FoIo FUT I 4R,
wealear & IR T HHA-GPR 1A &
& T faw ma #!

Ig F M, 3RT ¢ 99,

91T 919 # 3cHa-u4,

-8 YgdtaTs Oes, 3 fFad A &
& s faw ma

& HT-Ag 69 IR,

fhar #Y qu arg #eN,

ArEHA FEflr dor FW F qA-UH w1
& Uy faw ma §



81 FEl T §A WA,

e siterar B T aere

37! Hedeldit & & IS @ WA gl

& s faw ma §

93 1 fasdraa e, qoedr FRER,

Hcg-gus 3 did FI, TF, I3 AR

dleg TFwT @EEl o9 Ig ofA I,

T 39 IR a9 Braw vy F |

Raas v & wor 3N a9 § wor,

3T G W g A= 3 el W el

W 9 9o & T@T Fg1 i § TFH,

FoAg-Ad I§ HA TS dleg TR

st Rgsr e a1, wefia-ar dfa & Fam 9,

e, Tg Tl A A S R g A

3YYFT ISHIA FT YGHT AT I AT oA FT IR TS
YeeT - UEHA F AR FiT ool AR Rwa #2
1. $H

2. SfeAdr

3. #fa

4. T

Correct Answer :-

8) &# =¥ fav md §l

ol T Weg §AR F4F & F: ¢
foed @at & § s,

HleT s 3T/ FFge?

Tei-afed fava € 3, s9-dera awa &,
& Uy faw ma §

¥ MT F U @R,

3R AN FUT I UK,
FeAferdT & IR F HA-TPR ol &
& Uy faw ma §



g § M, 3RT ¢ 99,

a1 919 # 3cwa-T4,

-8 YedtaTs e, 3 fFad A &

& s faw ma

& A-AE 69 AR,

fhar #Y qu arg #eN,

ArEHA gEflr dor W AA-UH 1

& Uy faw ma §

A FE Tg §H A,

Fler siharar BT A er?

371 oIS F & A T A o

& =g v #xa #

wey F FrewrEa e, TEH FROR,
H{g-2Us 34 did HI, TsF, TH TR

dleg TFR WA 9 Ig qIA e,

AN 3 IR a9 BIaw gy & @

Rrrasr vy & |or 3N a7 § Fore,

39 G W g A= 3R el W =i

W 9 9 & T@T F@l oI § T,

Fog-HA IE AR NG ey TIFH

Rigsr Rgsr R o, wia-w o § 79 9,
Folell, 9% o af 97 $8 v g @
39T YGIIRT T YGH A qF AT oA FT Fw{ qaqBA:
Yo - A ¥ HTAR Frra#w 9 iR e @l ?
1. 919 3o TEAT T

2. 51 37¢ 18T gIed gl

3. 99 digg av gl

4.3 I faorr giel

Correct Answer :-

. 59 dieg ay gl

9) &H Ts¥ fav ma &
AT TsT W] §AR 9% & FYQ E



e Qat & § 3,

i s 3T/ FFge?

Teei-afed fava € 3, sa-dera awa §,
& s faw ma

¥ M ¥ U :@R,

3! G FUT I UK,
HeerelieraT & 3R F HA-HER ol 81
& Uy faw ma §

g ¥ W, 3Ra ¢ a9,

a1 9 # 3Ha-T4,

TH-U ved-teTw oed, 9 e a9 &2
& sy v 7w §1

& HT-Aw@ 89 3R,

T F g a1 FoN,

AEHA S a9 F T FqA-u A g
& sy faw ma §l

81 FE I@ §A W,

FleT aerar Y T HAr?

381 IeIerant F J@ A W § &
& s faw ma

93 1 fasdraa e, qoer FRER,
Hcg-gus 34 did FI, TF, I3 AR
dleg TFwT @Eel S9 I ofA I,
AN 59 IR a9 Bgaw vy & ||
Rrras w91 & wor AEA a9 ¥ waAd,
3T e W g A= 3R ol W el
W 9 9 & T@T F@1 I § TFH,
FAG-A g HA TG dleg TR
R R R a1, wila-ar e & sa @,
e, Tg Tl A FH A6 v g A
3YYFT ISHIA FT YGHT AT I AT A FT IR TS
TR - UEhI ¥ H[AR el Fad o7 38 82
1. Qv grer @



297 ¥

3.%cg §

4. = @
Correct Answer :-

o QYA g T

10) &7 =¥ fav 7xa §

AT T Wed AR FEF & F ¢
foed @t & § 3,

sl Ifow 3T wFae?
Teeh-afea e § 3, wa-de9 s §,
& U9 AT #xa &

T -9 F el TR,

3! G JuT I UK,
wErellerdT & 3R & AHA-APR aXa §
T sy faw ma &l

ag § M, 3RT ¢ 99,

a1 919 # 3cwa-I4,

-8 YeditaTed e, 3 fFad A &
& s faw ma

& A-AE 69 AR,

fohar #Y qu arg FeN,

TrETHT e aor W T HAE-e R §
& sy faw ma §

A FE Tg &H A,

Fler siharar AT A er?

371 oIS F & A T A o
T =9 AT #xa &

wo Y s e, FEH FROR,
H{g-2vs 3 did HI, TsF, TH TR
dleg 9FFT @Rl A9 T§ HA 309,
AN 39 3R a9 Baw vy & |
Rrrasr wop & Hor 3N a7 § Fore,



39 @ W g A= 3R el W =i

W 9 9 & T@T F@l oI § T,

Holg-Hel g A ooma dlqg TFH

Rgsr Rgsr e o, wefta-wr ofa & warer @,
Foell, TE T A IH A5 RAwA g A
39T YGIRT Y YGH A g AT NRA T F) qaqBa:
W - Felg F HA PieT 87

1. gfed

2. 91f&

3. §ER

4, #fw

Correct Answer :-

11) &7 =9 AT 7 &

AT T W] TR F4% & 1 &
e @at & § 3,

i Ifow 3T wFEae?
Teh-afea et § 3, wa-do9 awa §,
& oy fow A #

q M- F el TR,

3R GoIo FUT I 4R,
wealear & IR § HHA-GPR a1 &
& Uo7 faT ma §!

g § M, 3RT ¢ 99,

91T 919 # 3cHa-I4,

-8 Ted-taTE e, 9 fFed o #2
& s faw A

& HT-Ag 699 IR,

fhar #Y qu arg #eN,

ArEHA FEflr dor W q HeA-uH w1
& U7 faw ma §

a1 FEt T gH A,



e siterar B T aere

37! Hedeldidt & & IS ¢« WA 8!

& s faw ma

w3 $ faswrae e, g FRER,

Hcg-gus 34 did HI, T4, I3 AR

dleg TFH el S« I§ qfA I,

T 39 IR a9 Braw gy F |

Rrraw 997 & ¥ AN a9 ¥ wo,

3T @ W g A= 3 el W el

W I 9 o TET T@l 9ol § THFR,

FAg-AT I§ HA TG dleg TR

e Rgsr e 1, wsfia-ar ofiad & Farer @,
Fledl, 9% W= df 97 $ R{ww g @

3YYFA ISHIA FT YGHT AT I AT oA FT 3R TS
T - FA F AR Fodm Tod Pl F §?
1. FYh

2. STeleh

3. dfa=

4. gdr
)

Correct Answer :-

12) &7 =9 fav 73 §

Hodl T Weg §AR F4F & F: ¢
foa® @at & § s,

i FOF 3T/ AFTT?

Tei-afed fava § 3, s9-dera ama §,
& Uy AT ma §

¥ MeT F U @R,

3R GoIo JuT I 4N,
FeAferdT & IR T HA-FPR o §
& sy faw ma §

afy 3w, 3T § 79,



91 919 # 3cHa-94,

TH-¥ yed-teTw foers, 9 fFed s &7

& s faw ma

& HT-Ag 69 IR,

fhar #Y qu arg N,

ArEHA FEflr dor W F qeA-UH w1

g s faw ma

Ad FE Tg §H A,

Fler siharar BT A ser?

381 IerEranat F W A W § &

& Ts9 AT 7xa #

wo Y s e, FEH FROIR,
Hcg-gvs 3 dId H, T, I3 AR

dleg TFR @A S I§ HqIA e,

AN 3 IR a9 BIaw gy & @

Rras v & W I a9 § WO,

39 e W g A= 3R el W =i

W 9 9 & T@T F@1 oI § T,

Fee-Hd Ig A o9a dleg TFR!

Rgsr Rt e o, weita-wr ofa & warer @,
olell, 9% I af I $8 e g @
39T YGIRT Y YGH A g AT NRA FT I/ qAB:
WA - &I Fiadl & AT 3RT dfds &1 awa ffae?
1. $H gl

2.8H Usg fov #Xd §!

3. 98] ARt

4. Helg T HROT

Correct Answer :-

e B T foT Ia gl

13) gH =¥ fav ma &
AT AT W] §AR 9% & FYa E
SaF @dat & § 3,



e s 3T/ FFae?

Tei-afed fava € 3, sa-dera awa §,
& s faw ma

¥ MeT F U 3:@R,

3R oo JuT I 4N,
FeAferdT & IR F HA-TPR o §
g s faw ma

g ¥ W, 3RT ¢ a9,

9 9 # 3Ha-T4,

-8 TE-aTE oo, 7 RFEd s §2
&9 Ts9 faw 73 @

& HAT-A@ 899 30N,

fFar #Y qu 3 oK,

AEE Efr d9r W F-uA 1A
& Uo7 faw ma @l

81 FE I & W,

&le sterar B T aere

37! Heweldidt & & IS ¢« WA g
& s faw ma

w3 $ faswrae e, g FRER,
Hcg-gvs 3 did HI, T4, I3 ATFhrl
dleg TeT @EEl o9 I ofA I,
T 39 IR a9 Braw gy F @
Raasr v & wor 3N a9 § wore,
3T G W g A= 3R el W el
W U g o 6T Tel o & TFH,
FoAg-A g HA TG dleg TR
st Rgsr e a1, wefia-ar fa & Fam 9,
FAell, Tg o A A A6 RAww g A
3YYFA ISHIA FT YGHT AT I AT NA FT IR TS
W - YEgd SfFadal @ akE v F w4t fAeER @ 2
1. a1 1 Hcg-gus fAe & FROT
2. 98] A fasepraed Aol & FRoT




3. efaf@a asft sRot &
4. 38 FREE Aelel & HROT

Correct Answer :-

. AAfaf@a g3 R &

14) & IR FANFT & Foir AR Fewea o 1 Fo a7, Bl weafa mma Pwa & g a
fFu o, ma%hia;mmﬁtm#msélm—mﬁmmﬂwmﬁﬁﬂqﬁ?R#gm
mlammmﬂaﬁrﬁm#m%mawwma:mﬁwmwm

Saer & ow weeht 3R afewar & #AgEY T F 3R Fegaw AT R a1, @ @ ik gl
wegufd a8 I W Y 3a@ Shaad & dawa oY e e it 59 3 ga § uidse gaT v A9 &Y
I I @ Rt F, SeRle beede R A9 @ Rt Rwa # Fovar 6, @ e #
SEHT q3T ARTF 3T 3aH ¥ UF U 3T 3 Ry & Buem g i &l "= 78 W
Tegufar fwer 82" fdeer & 77 @@ gor off 3k Rewar & e, e T der oo e & @R @a gl
st FRoT FER #H el A wea wftw g

FEQ: AR A Idem A F IRERIT WA F 9 agd FA @O §1 TN SHaw Fr v @
M%Wmﬁm#mﬁm%mﬁﬁw IS @AW 3 39 39 S fY
e &t @ ¥

3YYFA TSATA FT TG AT T AT YA FT IR TABA:
wee - IANFT A A F Fad gofer a8 fve 972
1. S 3efes &

2. fgeeR &

3. 3sTeH folehet &

4. forel TeFoleet &

Correct Answer :-

o 3sTeH ot &

15) & IR FARFT F Foilar AR gt = A Fo xai, Dl weafa semea Pwa & g o
FT &, 3% it F AT @9 gl & vHT g€ AGeAT i FT STod T IAd forefer qRar & gar
o1l & T AU 3gA AR R A W B A W ToI FART & IeaaH 7@ W IR g A

Saer #t forw wreaht s afdTar & #erqRy a@w & 3R Hegaw AT A7 O, @@ @ AR afemar
Iseufa a7 I W ot 3o Shaar & tawia ot e v 3R o9 § g & yfase g 3 79 H
T I o @ ARG A, Degier eetaer i 9 @ oot fiwer # Fowan v off, die-aer [FEwa «t
SEHT T INRTA FIHTI 348 ¥ TF I Imad 3R ey F BDuer g i a7 38 e
gty fiwa §2" Towa & 7 a@ g7 & 3R Rawar & w1, "2 T S wEen & @R e
st FROT TER # 0 A FEar ftF g

FEqa: 3EART A e el F IWERAE WAHAT & fd agd FA @ar 1 T Sfaw f v e
m%mmaﬁm-m#mmﬁﬁmﬁqﬁm Y Faw 3T 39S 397 SfaaT iy
o & @

3YYFA AT FT IGHFT AT TS AT YT FT 3 T3
gee - AINAT o fAFd F 59 T Y Feqar i Ai?



1. heeled 3 YR
2. ®YaT

3. w3

4. 7 AR o

Correct Answer :-

o $hege 3R Uder

16) TF IR IFANFT F Feilar AR Fenfaa T A Fo a7, Dl wgafa sawa Pwa & g a
ﬁ:uﬁ,sa?aehﬁ*ﬁv@hﬂzﬁa#ma?lmﬁ%ﬁrmmwmﬁéaqﬂawﬁgm
o1l & T AU 3gEA AR R & W B A W TeH ARG & IoAAH 98 W AT gU

Shaer #r o areaft 3R ofemar & #egREy T F s Fegarw AT A a1, 3@ weE AR afdEar
Iegufa a7 I W ot 35 Shaar & tawia ot e v 3R o9 § g & yfase g 3 79
3 IR @ @ AT F, Segler hewwe v 9 @ Rt e F Fovar & o, @io-aer e F
SEHT T INRTT EIHTI 348 ¥ TF I ImaF 3R ey F BDuer gy i aeh "= 38 e
gty fiwa §2" Towa & 9 a1@ g7 & 3R Rawar & w1, "2 T S wEen & @R e
st FROT FER # TS A FEar ftF g

FEqa: 3EART A1 Ide el F SWARAE WAHAT & fd agd FA @ar 1 T Sfaw f v e
m%mmaﬁm$mﬁmﬁm¢m YA AW 3R U 397 SflgaT f
e &+ g ¥

3YYFA ICATA FT IGHT AT TS AT YA FT 3R T8
weeT - fded & IR FlT WATHT F w@R g 22
1. faetH7

2. AT

3. HETRY
4, INT

Correct Answer :-

17) & R 3ANF F Feliar 3Rk genfaa w=F A Fo T, Sl weafa smmea e & g av
fFT &, 3% Pl F AT AT gia & vHT g1 AgeAT i FT FTod Th IAd freder qRarR & gar
oTl & Tad O 3EEA AR oRw F whmT B M W oA IARFT & Feudw T@ W I ge A

Shaer & ow weeht 3R afewar & FAggEY T F 3R Fegaw AT R a1, @ @ ik gl
mmmwﬁmm#mmlﬁmmaﬁrmam#mmaﬁmﬁ
3T I @ AIRE A, Begler heeaa i 9 @ aRqet R f Fowar it 6, @iv-ad [fFa w=t
SE@HT 93T IR mlmﬁ#wmmﬁaﬁrmuaﬁmmsﬂtmﬁ,"wﬁrm
sgufa fRiwa 82" e a a7 a9 ga o 3k Rewar & a1, "3 T dr w@aer F @R e g
s FROT FER A e A gEar w0F T

FEq: AR A dem A F IRERIT WA F 9 agd FA @ §1 TN SHaw Fr v @
M%Wmﬁm#mﬁmﬁ%mﬁﬁm Y FAW 3R 39S 397 SfiaeT fir



qdiem & @l B

3YYFA ST FT GG AT T AT YA FT IR AABA:
e - AT 3d% &ofT & fow Fgr v 47

1. ARG

2. Had gt

3. Jfifsafas

4, HiiT gl

Correct Answer :-

. e gfa

18) wF IR IANFT F Feilar AR Fenfaa T A Fo a7, Degla wgafa awr PFa & gl a
fFT &, 3% il F AT dae gl & vHT g1 AGeAT i FT STod Th IcAd el qRar & gar
o1l & T AU 3gA AR R A W B A W oI AR & IoaaH 7@ W IR g A

Shaer # o wreeft 3R ofemar & #egREy a7 s Fegarw AT R a1, 9@ weEh AR afdar
Tseafd & A WY 3aF Shae # Al ot e e 3k 59 7 g & 9idse g U A #i
IR IR @ A ARt F, Sl Beade R A9 @ Rt Awa i Fovar A 6, de-ged RAwa w
SEHT T INRIT T 38 ¥ TF 39 ImaT IR ey FF BDuer g i a7 38 e
ety fRiwa 7" Towa & 78 a1 g7 o 3R Rewar @ @, 3@ T S wEeT # wr o §
st FROT FER # 0 A FEar gftF T

aEqe: IR A IdaT et F1 SRERIT WA F 9 9gd FA @ §1 TN Sfaw Fr v @
m%mmﬁm-m*mmﬁmﬁw Y Faw 3T 39S 397 SfaaT iy
o & g H

39T AGHY FT GGHT Al q& AT YT FT 3 qABA:
w2 - IS FT AT FAT §?2

1. WATHAT & i 3T & g ¢l

2. 7109 AaTH7 g 2

3. 3ART T 38T ST & 8 ¢

4. 3R & 9fd ITRETR—c A g gl

Correct Answer :-

o WRATCAT & 9fd 3TER—ca FA 8T ¢l

19) TF IR IFANFT F Follar iR genfaa = A Fo a7, Deela wgafa semea PFa & goda a
T &, 3% oAl F AT @9 g & vwT g1 AGeAT Add FT Sod T Icad e aRar & gar
oTl & Tad IO SEEA AR R F ahmw A M W TeH IARFT & Feuaw 1@ W I ge A

Shaer & @ weEht 3R afewar & ARy T # 3R Fegaw AT A 91, @ W ik afdEar
wﬁmmwmmm#meﬁlﬁmmaﬁrmam#maWMWﬁ
AR A @ @ ARG Y, gl Sedea 3R A9 & aRet FwaT A wevar 6 off, do-aer R[FEwaT #
a'@waamm?gmmﬁ#wmmﬁaﬁrmuaﬁmmsﬁtm,"mwm



wsgufa fiwa 32" e 9 9 a1a ga o 3k Rewar & a1, "3 T aor /@A F @R e §l
st FROT FER & 0 A FEar qftF g

TE: mﬁmmmmﬁwm—m$9ﬁmmm%lmmaﬁwm
m%mmaﬁm-m%mﬁmﬁ g IRHH, F A FAT R G IAH AT B
o & @

3YYAFA ST FT IGHT AT TS AT YA FT 3R T8

Yo - Folled Asq "Fl "W I § IH W FEAAT oreg Frad 7@ 87
1. QAT

2. GEATA

3. G

4. HTHATT

Correct Answer :-

20) vF IR IARF F Feoila IR geAlaa W A Fo o, PSegia weufa semea Awa & gofq a
T &, 3% it F AT @9 g & vHT g€ AGeAT i FT Sod T Icad foreder qRar & gar
o7l & Tad O SEEA AR R F ahmw B M W ToH IARFT & Ieuaw 1@ W I gw A

Shaer & @ weeht 3R afewar & ARy T # 3R Fegaw AT R a1, 3@ A ik afdEar
wﬁmmwmmm#meﬁlﬁmmaﬁrmam#maWMWﬁ
3R A @ @ ARG B, gl Sedea 3R A9 & IRet e A wegar 6 off, do-aer [T #
a'@waamm?gammﬁ#wmmﬁaﬁrmuﬁmmsﬁtm,"mwm
gty fiwar §2" Toiea & 95 a1@ g7 & 3R Rawar & w1, "4 e S e & @R e
s FRUr FTER & TEt A TEar wE T

Wmﬁmmwmﬁ?m-m%ﬁaga grar g1 T e i e sraET
Xl & W AT A WARHT F A 39 &, 3o aRaE, 1 e waw 3R e 3aw e @
ot & @ #

3YYFA ST FT IGHT AT T AT YA FT 3R qASA:

Wl - IaeA fAweT 39t fheT U & FROT IANFT F Ivgufa @2
1. faetarar

2. T

3. AgeAd!

4. 36TH 3R IRHH

Correct Answer :-

. 3¢IH 3R gRHH

21) & IR IARE F Fo IR wEAlAa W A Fo R, Pegia weafa semea e & aofa a
fFT &, 3% il F AT @ gl & vHT §§1 AGeAT i FT STod Th IcAd el qRar & gar
o7l & T A 3gEA AR R A W B A W oI AR & IoaaH 7@ W IR g A



Shaer & ow weeht 3R afewar & #AggEY T F 3R Fegaw AT B a1, @ @ Ak gl
Teeafd g I W Y 3% Shaar & A ot e s 3k 9 3 g & gidse gl U 7 i
mmwmmw,mmmmm#wmaﬁmﬁaﬁ Ho-ard R &t
SEHT 3T INRTF FIM 398 & TF I 3Ty 3 Ay & BDuer @ ik aehr wu?rﬂﬁa

Tsgufa w37 & #uﬁmgwaﬁaﬁtﬁmm#w,"ﬁ!mmma?wﬂm
sl FROT FER # e A FEaGr qftF T

¥

21 T e i v raeT
} e

YR - 3 IEHA F A FaT F Pl A aRDF RAwar w1 gar g §2
1. el

22) wF R IARE F Felir 3R weEwloa o A Fo A, T weufy mwa Rea & gl ar
o 9, mmm*mmHH#ma?lmﬁwaﬂﬂwmﬁnhqmﬂ#gm
mlémmﬁmﬁﬁﬂ#ﬁﬂmﬁ%ﬂﬂﬁmﬁﬁm%mﬁwmﬂa?:f

Shaer # o weeft 3R ofemar & #egREy aoa F s Fegaw AT A a1, @ weE AR afdEar
Tseafd & S WY 3aF Sae # fawia ot e e 3k 59 3 g & 9idse g U A i
IR IR A ARt F, SRl Beade R A9 F Rt Awa f Fovar A f, de-ard RAwa F#;
SEHT T INRTT EIHTI 348 ¥ TF I ImaF 3R ey F BDuer gy i ael "= a8 e
ety fRiwa 7" Towa & 78 o g7 o 3R Rewar @ @, 3@ T S wEeT # wr o §
sl FROT FEAR & & A gEar 3f0F g1

aEqe: IR A daT e F1 SRERI WA F 9 agd FA @ §1 TN SHaw Fr v @
m%mmﬁm-m*mmﬁmﬁw Y Faw 3T 39S 397 SfaaT iy
o & @ H

39T AGHA FT GGHT AT q& AT YT FT I qASA:
WeT - GHTCHT & HAA g frad gdiam &= gt 872
1. 9, 9, FA 3R 3I9A Siae

2. greaft AR gfasrar

3. hael IRHA 3R FAW

4. 3egH AR qiHH

Correct Answer :-



23) wF R IARFT F Felir 3R weEloa o A Fo Fa7i, DA weufy mwa Rea & gl ar
o 9, mmm*mmHH#ma?lmﬁmaﬂﬂwmﬁ%hmﬂ#gm
mlémmﬁmﬁﬁﬂ#ﬁﬂmﬁ%ﬂﬂﬁmﬁﬁm%mﬁwmg:f

Shaer #r o wreeft 3R afewar & #eTgREY a7 s Fegaw AT R a1, @ weE AR afdEar
Tseafd & A WY 3aF Shae # sfawia ot Aea e 3k 59 7 g F 9idse g U A #i
IR IR a3 @ ARt F, SRl Beade R A9 F Rt Awa f Fovar & f, de-ard RAwa w#;
SEHT T INRTT T 348 ¥ TF I ImaT 3R ey F BDuer gy i ae "= 38 e
ety fRiwa 7" Towa & 78 a1 g7 o 3R Rewar @ @, 3@ T @ wEeT # @R o §
st FROT FER & TS A FEar gftF g

aEqe: IR A daT et F SRERIT WA F 9 agd FA @ §1 TN SHaw fr o @
m%mmﬁm-m*mmﬁmﬁw Y Faw 3 39S 397 SfaaT i
o & g ¥

39T AGHA FT GGHT AT q& AT YT FT 3 qABA:
9o - i HT s WATHT FT FATATLT g 872
1.¢9

2. $797dTeT
3. 39X

4. 3ATcAT

Correct Answer :-

24) wF IR IARF F Fellar 3R gomfaa = fr Fo Fa7i, B weafa sewes RFa & ada ar
fFe 9, 393 g & O @9 gfa # vFT g8 AgIeAT T #1 Fod F AT ﬁrti?rqﬁawﬁgan
9Tl § T 39D 3gFA IR IR § W 1 @ W aeHT IARST & ITaaA 98 W A U )

Saer it o7 weEht st ofTar & FAFTEY a@w # 3R Aegae A {Ar an, @ weEh R afemar
wegufd aa I W Y 3% Shad & dawna Y| e e 3t I 3 g H uise g v AT Y
X A @ @ ARE @, Sl Sedea 3R A9 & IRet Fwar A wevar i off, do-aer [T #
SEHT T INRTT gIHT| 3aF ¥ T I3 3mad 3 ey F BDuer gy i aeh w8 e
gty fiwa §2" Towa & 95 a1@ g7 & 3R Rawar & w1, "4 T S e & @R o
s FRT FER & TEt A TEar a0E T

TEG: FARY A 3eT TSl FT IEAed WACAT & 9fd g FA §ar g1 T Shaer A o @
it & Forws AT 1 WA & e e 8, arae afew, Y e daw 3R araer e Sfaer
gdtet =t gl

3YYFA ICATA FT IGHT AT T AT WA FT 3R T8
U2 - qF Asg FI FHIfAT TaAFE?

1. &

2.¢fa

3. &gl

4. gdr

Correct Answer :-



25) T& IR IARE F Feoia IR weEAlAa W A Fo o, Pegia weafa semea e & g a
fFT &, 39% el & v dee gl & vhA |mmmmwmﬁrﬂaw=¥§m
9Tl T 39 3gFA IR IRHA § FheT 1 @ W agHT IARST & ITadA 98 W A g

Shaer & o areaft 3R afemar & #egEY aoa F 3R Fegarw AT A a1, 9@ @ AR gl
wegufd aa I W Y 3% Shad # awna Y| Aewa e 3 I 3 g § gise g U AT Ay
T I o @ AIRAT A, Degier eetae 3t 0 @ oot fiwer # Fouam it off, de-amd [wa «t
SEHT T INRTT FIHT| 348 ¥ TH I 3mad 3 ey F BDuer g i aeh "= I8 e
ety Riwa §2° Towa & 7¢ 9@ g7 o 3R Rewar @ 7@, 4@ T @ wEeT F R o §
s FRr FER & et A gEar a0E T

TEG: FART A 30&T TSl FT ST WACAT & I g F §er g1 T Shaer A o @
Bt & O AT B WA F A 3 8, Irae aReE, i arve WA 3R e sae Sftae @
odieT &=l gt B

3YYFA AT FT TGHT AT TS AT YA FT 3R T8
U2 - ‘FEIAca’ g FT ATIQrd) qa3e?

1. SRIRY

2. 3a-9d

3. [FASRY

4. gidse

Correct Answer :-

26) UF IR IARF F Foilad IR weEAlaa W A Fo i, Segia weufa semea AwaT & gofa a
T &, 39F el F T e giad & vHT g€| AGICAT el &1 SeH U HcAd foveder aRE@R & gam
o7l & Tad O 3gEA AR R § ahmw A M W TeH IARFT & Feuaw 1@ W I ge A

Shaer & @ weeht 3R afewar & ARy T F 3R Aegaw AT R a1, @ A ik afdEar
wﬁmmwmmm#mzﬁlﬁmmaﬁrmam#mmaﬁwﬁ
AR A @ @ ARG B, el Sedee 3R A9 & aRet e A wevar 6 off, do-aer [T #
a'@waamav.‘rgmmﬁ#wmmaﬁaﬁrmuaﬁmmaﬁtm,"mwm
Tegafy fiwar §2" Toea o 95 a1@ g7 & 3R Rawar & w1, "4 T S e & @R e
sl FROT FER # e A FEa@r qftF T

mmﬁmmmmﬁ—dm#wﬁra@ ar &1 T Shaer f vF aET
el & O AT F WATHT F A 39 8, v aRees, HIF T H S I ShEe A
et &= @ H

3YYAFA ITCATA FT IGHT AT T AT YA FT IR TABA:
e - TR’ g HT [ANA Usg TABT?

1. faetar

2. STl

3. AN



4. pUTuTAT

Correct Answer :-

27) & R 3ARE F Fellar 3R wefaa = fr Fo Faai, D weafa smes Rwa & gda ar
FT &, 39F <fE & T e ga T T g1 HEAT e &1 FoH7 Th HcAdd el aRaw & gar
o1l & T 7O SEEA AR aRew F W B M W TeH IARFT & FeadH T W I ge A

Shaer A o wreeht 3R afewar & #egREy a9 F s Fegaw AT R a1, 9@ @ AR afdEar
sgufa a7 I WAt 3o Siiaer A tawia ot e e 3R o9 3 gia # yfase g e A
3R S ar Rt B, Deela beawer 3R A9 F aRyet Fwa A Fevar fr ff, de-qe &ea w1
@R T3 IMRTYF g1 398 F TH AU 3mewd AR ey F Buer g ik QN T 3@ e
ety fRiwa 7" Tiwa & 78 o g7 O 3R Rewar @ @, "3 T @ wEeT # wr o §
sl FROT FEAR #F & A gear 3f¥F T"

arqa: 3ERT A e e F1 IR WaARAT & 9fd g FA ar 81 T Shaer Y vF raer
%mmaﬁma?mm%mqﬁam IS @AW 3 39 39F SfiaeT A
qﬁma:nmm

39T AGHY FT GGH AT q& AT YT FT 3o qAB4:
el - Ry ereg Y HTaaTaR AT IAIBT?

1. Sar

2. ¥RaT

3. 3R

4. I

Correct Answer :-

28) wF AR IARF F Fellr 3R wemfoad o A Fo Faan, Degia el Iames Rea & qia av
T 4, 3% aoel & AT W ot F TEd Imﬁﬁﬂﬁwmﬁﬁ?{qﬁﬁﬂﬁg
9Tl § T 39 3gFA R IR § W 1 @ W aeHT IARST & ITaaA 98 W A e )

Shaer & @ weeht 3R afewar & ARy T # 3R Aegaw AT A 91, @ W i afdEar
wegufd a1 I W Y 3a% Shad # awna Y| ewa e 3k I9 3 g § yise g v AT Y
X A @ @ ARG B, Pl Sedee 3R A9 & IRet FEwar A wevar i off, do-aer [ #
SEHT T INRTT EAHT| 38 ¥ T 39 3mad 3 ey F BDuer gy i aeh T a8 e
gty fiwa §2" Toea & 9 a1@ g7 & 3R Rawar & w1, "4 T S e & @R e
s FROT FER & et A TEar a0E T

mmﬂﬁmmmmﬁ?m*m%wﬁraga grar g1 T Shaer i v sraET
Bt & s AT 1 WA & e e 8, e afew, @ e daw 3R e sae Sfaer
o & @ ¥

39gFd AGHY F GGH AT G AT YT FT 3 qdA3:
TR - ‘HIEIOT eeg T TAIGATE! $H 76T § EFT qase?
1. fere



2. HogdTeT
3. gFATAT

4. Acqd

Correct Answer :-

29) W oY g w”d &

AT o9 TR gUR PP & Ha 2
R At 7 ¥ 3,

P IS 3T THA?

Uelt-afed famRd € 9, ¥9-39T WA ¢,
B9 I fog wRa &1
M-t F ¥+ IR,

IAD! GAH JUT PT UR,
HERMEdT & TR d YH-IFR @ g
T Iy forg wva &1

gfe 3 3%, 3faa 7 74,

14 91d § Sqa-1d,

TH-9 WgH-3&® e, d e s3d 82
79 Iy forg wRa §1

YD HH-7E 99 IR,

forar B3 gU a1g PN,

TR g 7 AR 3§ qa-ue eRd g1
T I g wRa &1

gid Bl 981 gu W,

B URTaT fhR & WiT?

Il SrFerars & J& 3 g & 3!
B9 I forg wRa &1

7Y B frswTa- e, e PRAR,
YG-3Us 3 d1d B, I, T Fadre
Hiqg TaP WA o Tg Yf 3,
T 39 3R a9 fraaw uy & &
orgaw wy & T S a9 § qol,



9 a1 W & A ofiR Tt R T

W Ud U o 8T IGT UI0 & THR,

HE-Ho U8 YW T4 e Tah!

Rrper Riper i3 o1, Tfia-a1 <ha & Fa |,
Horl, I8 ISt Y o1 93 faww e

ST U B gD -1 I T ¥4 $T SR qaIsd:
T - Y &1 3 T 32

1 AqsH7 ®J

2.3

3. fest

4. UTc:enlel

Correct Answer :-

30) &9 I g wRa &1

HaT e TR g9 P & B T
R Qaf 7 ¥ 3,

P e 379 TH?

UeAl-afed feRd § 4, ¥a-39ad WA B,
B I T wRa &1

I M-t F ¥+ IR,

IAD! GAH JUT Pt UR,

=M & TR d YH-ITR ad &
T Y forg wva @1

gfe 3 3%, 3fa 7 74,

91d 919 # I94-Td,

-9 Uedt-ve® e, 3 frad sva €2
T Iy forg wva 71

P HH-39 99 AR,

forar &3¢ qU 91g TR,

Tt g a9 B A ga-of eRa §
T Iy forg wRa §1

Bid Bl 981 gU W,



B UFTaT fhR & W2

I1 A3 & J& 3T W Tl o

T Iy forg wvd &1

Ty F e e, ge! R,

TY-gUs 3 d1d B, 74, T FUFdR!

e TIHY T oIF Tg Yy 37T,

AN 9 3R a9 frgaw uy & 5

Oraan wy & T S a9 § FolA,

39 3 W = At iR Tor it iR Torh

R TS U o ¥61 Te1 W10 & TR,

Hag-19 T YA T HieE Tab

et Riper R U1, vfia-a1 2fia & sara |,
Forl, Tg Iort Y 1 a4 fww ura

ITa Ui Y TP - U T UY BT IR Ia133:

U= - “rad uY & 6T 3R 99 § e,
39 faT R faa MY ok 3ot iR To-i -3+ ufdaal o g & @ H19-91 Y9 82

1. 3R

2. h3UTT

3. folrem

4. fagre

Correct Answer :-
o TR

Topic:- HINDI (HIN)

1) e @y # frt geen, avq 3r9ar e # qoie giar B, 3@ R veR @1 ey FwEa
gl

1. HIaTcA® faAser

2. [aaRTeAs foay

3. JUIATcHS faeer

4. Fifgfcass AT ATAITTcHS foeer

Correct Answer :-

. qUTATCHS e



2) frafaf@a 9fFaat & sla-a1 o 87
afs gy ¢ dua gaaas,

9

TH F S TH @i & HiT
gadr ¥ ¥ w9 @i @y A &
1. BT Beg,

2. AT B

3. TR Beg

4. FUSforT B,

Correct Answer :-

.« HAETY Beg

3) Rvaror wfterw It & agoE wha a6 ¥ -
1.9C

2. Soich-aIs

3.§9

4. gt

Correct Answer :-
o 9T
4) et F1 TEaS AW Fw g H @ wfgu?
1.3 @ IS 7
2. 910 g1 H
3.3 grT H
4, Q=T gTdT H
Correct Answer :-
. 90 BT A

5) srfesar &t & R #1 Rrayor -

o

1. SgIagIRe d AadadATcH® &r

2. dlfeheh @ 3ot &




3. ¥gol 9 §A &
4, JATAS g TareTidss ar

Correct Answer :-

. darfas g Tarfas &

6) SUTHIT, FIY 3’ F HTUR YT Aeq & Hihfad T FT I HIA drely AfFd AT H @
FIT HgaTdl &7

1. SI&TOT 2Tsg ATFd
2. STSAT QUs; AT
3. latTer ereq ufda
4. e Asg ATFA

Correct Answer :-

o AT oo ATFT

7) S8 ¥ fFY dATcF &1 TYR AGIHA FIGH T AlaT-aRT g?

1. T8 & ToIgd

2. ggell ST
3. 3 3TER

4, 39T T Teh feoT

Correct Answer :-

« NG T Ush &t

8) ‘I I fFE YFR FT 9T §er 82
1. SIS 9

2. A&T0F I

3. 3gfeds 99

4. FAAHE T

Correct Answer :-

9) ‘freig IR IreEAde frad Ty waw 87



1. 37T

2. enfafSr gfaadr
3. Jelg

4. AU g feaAahT

Correct Answer :-

10) ‘I F For foawr & fdusr wia &2
I U S A CCLAS
2. RO *ROT 9

3. gmﬂlo-iqd Yod

4, AU [ g

Correct Answer :-

11) 3refld & gl e garr [l fdy 32
1. gSIT SdTe; Efaddy

2. gheia FAardr

3. ARSI ey

4, HgTedr IHT

Correct Answer :-

o Hgedl gAr

12) ‘3T FI FT VAT T A FAAOT FieT AT 82
1. g &N

2. Slell HY7?

3.5 | FT &

4.9 & o FX 8l

Correct Answer :-

. §gd FI
o)



13) ‘3o Faw frad ganr ff@a afiqy e 32
1. g 9ATE gfaaar

2. AR

3. WER qUT &g

4. HAHT

Correct Answer :-

14) ‘39T 9o AT & IRHA @ T 9T F et H e H F FlA-ar Fy7 7w 72
1. 75 fRel qg wred 97 &1 W §

2. Ig UTAY & for@r S @1 97§

3. 3¢ faF &1 forar S 3@r 97 gl

4. I dfag-3fReEr & foar ST @ 97 g

Correct Answer :-

. 7g fFE qF g 9F @ 3R P

15) ‘gelder & ATy 87

1. AYUThRdT & GEATER

2. YAATcHS 37d

3. THUTHAT & gEdER

4, GHATUTEGRY A T eTdrdol

Correct Answer :-

. JHAUREGET HS¥ AT gEdaa

16) ‘reRor #t AT frEd gErT R AT 7 2
1. §STRT 9ETE Efaady

2. THTRT AT

3. AR 991G gfadar

4. LYY qUITHE

Correct Answer :-



17) 3 TAGE qFd R ‘dear 3R T FE ywR w1 Aew §2
1. AATIPRT Aeell fAaer

2. TeleIIcHAS fAaY

3. diferd folerer

4. i Gael faaer

Correct Answer :-

18) ATy (s YFd A FA {fawrer F1 wuw R A= 82
1. fogRy

2. ST

3. 0T

4, RrarAof

Correct Answer :-

19) i B F TAF WOT # TS WIAT & FH { Fel 24 FoT T &7
1. A eq Bog

2. TG TIAAT Bogg

3. % AT FAA B,

4. Gl FAAT B,

Correct Answer :-

20) #qor FlRIT FT FEY § -
1.0 |
2.7 ¥
3.0 @

4. 3@ T



Correct Answer :-

o FAH

21) A geder RT THaRaaeE @A § @ R oeg-agufa & ¥
1. ARS-TIIS

2. HAGT-FHUstorr

3. aTgT-Fusforar

4. Qrgr-diarg

Correct Answer :-

L

22) T wg A FEOTCHT F M T AT TAH F FheT 32
1. gI&E

2. HRTETS

3. SheraeTd

4. 38T

Correct Answer :-

23) ITURVT FFETAT TATIAE F SF WA & AT fher 731 Y #Agg 7t A= TR -
1. forearpla &

2. 3WercT ol

3. AR 9AT &1

4, TGRS &Y

Correct Answer :-

o AR AT T

24) AGRISE $Y TSN 38 & HiaT @ 872
1. SESSAT HTST

2. AITST AT



3. TURY AT

4. f&&y smar

Correct Answer :-

o FASE AT

25) gaE & HH FA-HIQ g AT §, I | 9 & FIT /T HETET I9YFA g
1. AT HE of

2. Tl AT A of

3. AT el &Y of

4.FATUS

Correct Answer :-

26) o AW H ‘HaUT FA FEr AT 872
1. Y9 & gl

2. gIfAIT

3. UTCcehdl & qd &l

4, YTcdshdl & 9T TFATT AT T8

Correct Answer :-

« UTcdhdT & 9fd TFAT A7 T8

27) 3itqaR&® 99 # st =g I B
1. YGRS I
2. FATEAT 99
3. qIRaRe 9
4, 39Tchleld I

Correct Answer :-

o AT I

28) syt et F fwafaf@a & @ i @1 o1 IrARTF AE 2



1. el g 39 Ug W A

2. GRS <AfFdcd T ScdH HISAhc

3. 3afFds fAeAdr FT AT T TEr A TARLT
4. frg AT # 9T 3@ & 39 HAW W) ADFR

Correct Answer :-

o el 9 3T 9g W AT

29) YT UH IYFAVT & T A gAT A A ¥ -
1. 39U Halr

2. haol &TAATT & fashrd &t H

3. shdel AlId FEIAT Ud HEHIA I Igdled i H
4. hadl @@ H

Correct Answer :-
« 39UFd wofr

30) Fam # oAl A girgar & Frh § -

1. fRretes &7 g1 # & Ao &

2. AN FAH A

3. Al doad A

4. gl 3R drerr A

Correct Answer :-

31) Fa H W YSe, Rfead FREAFH F1, ISl & 1A Fe=, AfEw-faf@a w1
= e fFe Ry & et ama 87

1. forameflierar &1 faguia

2. 3TR0T 1 fAeEia

3. 3fAYTOT TT T F eEd
4. 3efatrel 1 ferd

Correct Answer :-

« Torameierar &1 eurd



32) AlgaIRE 97 & U SR arell H @AET A F Fla-ar FEuT sqAET A W@ Sar @2
1. 9

2. 9T A3

3. 3ot

4, IO

Correct Answer :-

. BT @Ay

33) U% SiFeT GaRT g SiFcy 1 A% vaRe o7 & Fla-@ wawer w1 g3hr fear
STe?

1. AQIGT/AGIEAT
2. AT/
3.0

4, 3fFey

Correct Answer :-

. FEICT/AGICT

34) 9w RefeT Fi A sorar 32

1. Toh iAol & qEX HrdTerd

2. Ueh SR @ AR T3 A TR

3. GAMR 97 & UG GaRT HrTeld & Ty
4. Ueh TSR SaRT @ HARRT Hr

Correct Answer :-

o Th PRI T JAER T30 A JhrErd

35) et #§ ¥ Fia-A Fee sfisw g fir a8 22
1. 9TolT

2. AT 3T a4

3.dlsg

S A

4. $caTg



Correct Answer :-

36) faeet # ¥ Fla-uT ACF FIAF TG ganT @ 7E §?
1. Tgared

2. YaEaTiHAEAT

3. Thedleed

4. UgelT IS

Correct Answer :-

37) fasst # ¥ *la-u1 AeF Mg THA ganr Al a8 72
1. I8 o Tolgd

2. PIUMEh

3. 3 37ER

4, 39T T Teh feoT

Correct Answer :-

38) farT & & araw Fhrawr A [ 7@ ¥ -
1. qoTATem Yeufd

2. taedTcHAS deufd

3. 38R Sy fafer

4, facgTcAs geufd

Correct Answer :-

39) AT & ¥ i @ A aRTHr B s a7 iy 7€ &2
1. 37aeY
2. gRarofy



3. aoo-aél
4, sial HATNT

Correct Answer :-

40) T # ¥ P WATHR F SRMERE F HUR FAT F 7E e smar 82
1. gIHid FAUrér forrer

2. RN Tt

3. ST SIS

4, AIGAT gAY

Correct Answer :-

« gREONT FoaaT

41) farT # ¥ fF9 aeF F qET 9 Rargx §72

1. I8 o Tolgd

2. g T
3. TS
4. 3T 31EX

Correct Answer :-

42) far & & F9 AfAFa Freaurr &1 FA TE AT FTar 32

1. fogr
2. avemm

3. 931G

4. 3TeTH

Correct Answer :-

43) FPEAT GoraT AT A HHATFT FT FIT W FT 82



L §TH & P15 QT

2. %had Alf@®

3. ool fof@d

4. fof@a 3R Aifgs gt

Correct Answer :-

. had Afgs

44) T # ¥ frua frameliaar & Riquid W oo R § -
1. 3T Tl

2. dhaol fadr

3. shdol Hidel

4. hae HCEN

Correct Answer :-

« 39UFT @l

45) gt A it Fa FRATEAT F1 gar TET IR gT T FT YA Fgeral § -
1. HedreheT fafer

2. fatweT fafer

3. 3UARIcHS fafer

4, HTeiraeTcHAs fafer

Correct Answer :-

s 3UORIcAS fafer

46) aTerwl F oTWT W@ F vF 3ugad aRkaer 79 ¢ -
1. facaTer T

2. gfaxoT

3. AT

4. 9RER

Correct Answer :-



47) T 99 g FI&, APEd F1 7T ¥ -
1. T & § ar o |

2. 9E] T G AT A dlel 3R]

3. fpdlr &t 34 fr 3fFa & AT &

4. 9 drehd @ deell ehleT |

Correct Answer :-

e T T F & 1|

48) “Ryar # @ F q@Et sFE F1” - fFwdr gfdgy 9fF T 37
1. HAGEH

2. AT

3. Jerdlerd

4. 90T

Correct Answer :-

49) fafia w0 ¥ R oTeT F FAFT TTF FAT TGO I 87
1. s

2. eafey

3.3

4. 9T T giATEr T

Correct Answer :-

o ST T GIAGIET qITAT

50) FEed! gAT & Hed W FE g AT RURYRT FT IHT AT T 82
1. 99 g & Hlelcarg I

2. aefarg & Jifgdmarg @ r

3. diey el & gqudre

4, GIET T & $Hifdearg &t

Correct Answer :-



51) @er fasew Fam-

UG TAGR A LFad IR Wa A et & i aea 21
1.7y

2. e

3. 95f

4. A9

Correct Answer :-

52) ¥dl fAsweq Fdw -

Sog dGH o Fgardl gl
1. 9eT

2. fAser

3. 96T

4, gl

Correct Answer :-

53) ¥§ RAFeT Tay -

fret aftcaer, witfcas fawr o1 affeas waftr w foar = e FgaTar gl
1. HraTcHe e

2. faRIcAs ey

3. goidATcAs faser

4, Tifgfeas a1 3marascAs ey

Correct Answer :-

o giigicaes AT ATaTdATcH S ey
54) Arafaf@a 9fFaat & sia-ar seeER 872
¥ G9ar 9HE A¢ , THEF RY F@ |



¥ AR I Aew A Feg @ |
1. YT FEfd 3ol

2. 3T 3TARR

3. IHF PR

4, FUF AR

Correct Answer :-

55) wifeew &1 F frdt qor i e Rdvand & quene Fem @ §) sEE w0 -
39 AFT aelt FY ageran it 7E 7 WRET F FE @ wqsw # IR AT AwEw dk waS
¥ faw 3qahh soem 31 99 Rl AedT g & e o1 St § a9 we
FIATERYT eaTed @ T § 3R W erar € R 39 qu # A gad i s
e THT F AR & IEUF T FF a1 ¢ T 3T TS H g g F
&ar ¥ woar wifeer FaY ot Aea e ygfeet w1 gar @ dam

39T IR=dE F TgHT A RU T wear F1 3R AT
‘ifeca Fft wera AU ygfr 1 gar 7t Aar ¥ FAT AT 32
1. ifgcT AT HT 98T 8T Tl

2. Aifged ATAIAT &1 GAIA giar g

3. AT T wgfar ve S A gl

4, TfgcT HfSaT T & 39U & F

Correct Answer :-

. TIfgcT AAITAT T BARIA @ B

56) Wifecy #1 i forelt dor r silforss Fartwansit 1 aponme Fem @ E sHET FE -
3R qFT AN Y ageren off At 1 W w1 FE A Ay F# Ak 3fE A Ak @S
¥ v swanlt o § o9 R Aed @ag A en o1 o § a9 e
IIATEROT ST g SaT § 3R T werar § 6 39 & # @A gad & AR
wfoT gAT & AR & yaQUF FT FF FIAT & T 3W TS F 9fAT @ &
&ar 31 e wifgey w3t off A faelt wgfeat &1 qar A

39dad IRedq 1 ggaT AT R 10 we &1 3o AT
ity fhelt Tsg &1 9fad @ @ HFF T=rEr #2

1. TS I 3T S

2. 3% &1 iMfden FAATAT3N FT IO Fh

3. FAS & T 39anl gae

4, §leTcT STET T TATEROT fAATOT



Correct Answer :-

o AT & T 3R g

57) ®ifeea &1 F frelt dor : silfos Rerwanst w1 qoeme Fer a@ ) swE s o
3R qFHY AN Y ageren off A B WRET w1 FF @ Ay F AR 3¥F A Ak @S
¥ fov swanht @ 81 o9 Rl AT @y A fnn o1 ST @ a9 wse 7 fear S ow
JIETERTT e g A ¥ AR AT e @ BF 3@ a1 WA gae Y R ST @ § oAt 39
Hied AT H AR & 3aAUF & A FIGT g1 T 39 ASC A Ifad g F T9a A 9o
&ar 81 wean wifgey wal oft Aera fael wgfrat @ war wdt oam

39dFd qRedE F Yga A RE 7T we & 3w AR
wqd wegrer 1 3T ofdw Far @ wwar 2

1. ETfged i Isg Far

2. wifged 3R sifas faRyame

3. |ifgey &1 gl

4. Figed 3R AT

Correct Answer :-

o Hged AR AAITAr

58) wifgcar # F frelt dor F silfos frrwarst w1 g FEw @ 1 swE FR e
39 AT Al Y ageren off it 71 wRew w1 FE A Ay F# Ak 3fE A Ak wwer
¥ AT swanht o 8 o9 Rl AedT @y A e o1 STl @ oaw e
aTATERoT SgTod g St § 3R ¥ oo § fF 39 A F @A gaq oA
wfoT FAT & R & HaUF FT FF FAT &1 T 39 TS F 9fAT @ &
& 31 wear wifeew w5t oft A R st #1 gar 7@ da

3rgFa IR=DT F TeI A RU 710 wooT F1 3eew AW
YEJA AT & TR WIfReT F1 F 74T 572

1. A FARIVATHT T 0T FIaAT

2. HfSel AT A TS HI AN FIAT

3. AsT 1 3HfAF AT el

4, Y- 3¢ ST

Correct Answer :-

59) wifecy &1 FF et Ao i silfos Rdwansd &1 qormE Fer FE ¥ IwET FE @
3G SFT AN P ageren ot AF ¥ W F FE @ AT # 3R AftE AT 3k @A



& faw 3uahh @ 31 o9 Bl Al g # e o Sl @ a9 wse F fear aer @
mwam%aﬁrﬂmm%ﬁ:w@rmmmﬁmmm%?ﬁw
Hfed AT H ARy & 3EAYF FT 1 FIGT g1 J@ 39 IASC A Ifad g & Tga A 9om

&ar ¢ g wifeca weft off Arere e gt w1 gar @ Aam
3rgFa IR=DT F TeI A RE 71T woaT F1 3o AW

YEJA AT F HFAR Fel g & fw wfeer www wia-ar ghar 372
1. 519 @ifgcd e fARAVATHT 1 IO FIAT Bl

2. 519 HIfgcd 3UGA o ofaTell Bl

3. 519 AT TReT F € Tgam

4. ST GATST IdeT T 3T 1T &

Correct Answer :-

« 1§ FHATS Tdel $HT T 1T 5

60) g ferfaa dfeaal & S a1 8< 82
AT UG o WTE W, afg SR S8 Wig |

e o 9 faua fay ,sawr vead faams 1
1. el S

2. Tell B

3. 3161 8<

4, GRS B

Correct Answer :-

. Qg B



